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Al A

SA - FE - SRA(3H) - MRAE - BES Ofl &F2H I8N Hws2
O|3| AL Dt 1,310,617 1,269,578 41,039
Agels 2SR 902,044 868,223 33,821
cjggs ¢ 902,044 868,223 33,821
Adgs A& 896,444 862,623 33,821
205 2I3H| 539,954 506,133 33,821
01 S| H &SI 126,000 92,400 33,600

O2ENE+E H-4|

1,200,000 x7E*12& 100,800 75,600 25,200
O8X&g=H| 300,000& 7B+ 128 25,200 16,800 8,400
02 88+ 152,532 148,412 4,120
OF-FSEaS) 1,815,857 R+7H 122 152,532 148,412 4,120
05 =288 S&| 54,242 58,141 A3,899
| 2EESE| 6,806,000& 7 47,642 51,541 A3,899
Y2 AZHI(2AS AR D) 408,573 401,355 7,218
I 2| (23 ALR D) 184,163 184,059 104
A2 HHI (2 AR D) 184,163 184,059 104
101 e124d| 184,163 184,059 104
02 JIEt&E == 28,737 28,633 104
ozzzz 7,852 7,748 104
—5EI2FFE 103,900& *1H 104 0 104
JI2ZH|(2 g At D) 224,410 217,296 7,114
Jl2ZdI(2/3AF2 1) 224,410 217,296 7,114
201 Zet2& ] 85,926 82,048 3,878
01 AtR2telbl 39,306 37,578 1,728
OSEHI(BH) 8,000 170+ 123 14,688 12,960 1,728
02 S2=24l 46,620 44,470 2,150
OXsxt 2= 650, 000-& *4CH 2,600 1,950 650
OXS XA 300, 0003 *4CH 1,200 900 300
OXtgA =l 1,000,000& 122 12,000 10,800 1,200
202 044l 27,480 24,360 3,120
01 ZLHA LI 27,480 24,360 3,120
O0{HI (BH) 130,000& x13F* 123 20,280 17,160 3,120
203 gR=8| 10,804 10,688 116
02 H3OtaHA R F&| 1,524 1,408 116
OZaotet R =2lH| 127,000« 122 1,524 1,408 116




